N = O &b Af 3 Ml A
20109 & =20lAaF LBESIH FHeHEH ~ HeHdH
fA HHH
M HHFUHIMH AES S
et e EQIME N ECR-ED
SN S(B) - NRAY - B2 Aro e =2
e 565,985 528,330 37,655
HeHBEFHHME A S 2SS} 177,894 149,110 28,784
HeHHF ST A 177,894 149,110 28,784
HAHFCNXMEH2H 15,000 15,000 0
201 B3| 15,000 15,000 0
01 AtE222lHl 15,000 15,000 0
O=0IXXIHEt2H B 15,000,000& 14! 15,000
HeHEFEHHHE 48,920 48,920 0
301 et2A = 48,920 48,920 0
05 S-cl-eEEs243 47,920 47,920 0
Ool&E=¢ 200,000 «1401x12& 33,600
O0lEAH= 200,000 *1421%23| 5,600
O0lE 3o&A =5 20,0003 *1421x23]«12& 6,720
OgtE & sl 50,000& »40¢2! 2,000
10 HALAHIZ2 &3 1,000 1,000 0
ORS U HAIS FAX AyIB4
1,000,000& * 14! 1,000
HHHIF A2 E 22 34,274 34,290 A16
101 Q14| 2,130 1,690 440
04 JIZtHZ2Z2 s+ 2,130 1,690 440
O=Xz2 Ea 42,6003 221 x25< 2,130
201 Let2g| 22,144 22,600 AN456
02 2Z223H| 22,144 22,600 A456
O3232= & AMA 14,044,000& * 14! 14,044
(@) K=3:] 4,100,000& =14 4,100
OAEE IS X 4,000, 000& * 4,000
401 AIEHIZ 2 10,000 10,000 0
01 Al&HI 10,000 10,000 0
osXza B 10,000,000 * 14! 10,000
HeHHHZ XA 71,700 42,900 28,800
201 et 21,300 21,300 0
01 AtE222/H] 10,500 10,500 0
Oget=&H| 9,000, 000& 14! 9,000
o2d=+¢ 1,500,000& *14! 1,500
02 =234l 10,800 10,800 0
ORERF 3,000, 000& =14 3,000
OXrg KXl 7,800, 000& 14 7,800
202 O4Hl 50,400 21,600 28,800
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B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
01 =LA bl 50,400 21,600 28,800
OJleg a0l (1491) 4,200,000 =12 50,400
HeH2AZ 22 XA 8,000 8,000 0
405 K&t =H| 8,000 8,000 0
01 XL SEZFHSHI 8,000 8,000 0
ool zaeld| 8,000, 0002 14 8,000
H e SHALE Z HI 306,420 306,290 130
HAHAARLDF =AY 306,420 306,290 130
HelHFU=JAAS 302, 160 302, 160 0
401 AIEHIZ 20 302, 160 302, 160 0
01 Al&H| 300,000 300,000 0
OL7A2 F0=sJAAMG L KNGS AS
300,000,000 =14 300,000
03 Al =204y 2,160 2,160 0
OAE 2 300,000,000& *0.72/100 2,160
HeHHE=ZFH| 4,260 4,130 130
101 eld| 4,260 4,130 130
04 JIZtH22XSE+ 4,260 4,130 130
Oxzzel(dM4d) & s3&H|
42,6003 102! x10 4,260
HelH HE2F 3| 81,671 72,930 8,741
HefHoIE2H | 39,203 40,880 AN1,677
HeffHol S 2H | 39,203 40,880 AN1,677
101 2l244| 29,083 31,320 AN2,237
01 2= 29,083 31,320 AN2,237
OANZte 2R+ 7,4573 x1321x300A| 2+ 29,083
203 R F&d| 10,120 9,560 560
01 J|22ZFRF&H| 6,600 6,000 600
OJ22Z IR FAHI 6,600,000& =12l 6,600
02 RIS SF=EH| 520 560 A40
O&EJ et 2= 2ld| 40,0003 =132l 520
04 EA2ISRFEHI 3,000 3,000 0
ORAMZIHRFAI 250,000 = 12& 3,000
HehHII2Z bl 42,468 32,050 10,418
HelHII2Z I 42,468 32,050 10,418
201 LBt A Y| 6,768 6,600 168
01 AtR22lH| 6,768 6,600 168
OfM2E =2 4,584,000 14 4,584
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O=&l 7,000& x1321+23| x 122 2,184

202 O4Hl 2,000 23,600 221,600

01 =W 2,000 23,600 A21,600
O&2 ¢l 2,000, 000& 14 2,000

405 AHoHESHI 33,700 1,850 31,850

01 HARESFSH 33,700 1,850 31,850
OxXtE 20,000,000 *1CH 20,000
OPC(Z2LIE A 2]) 1,000,000 »4CH 4,000
o=Zad 700,000 1CH 700
OS A 6,000,000& = 1CH 6,000
OdAME 2Kt 10,000 *300H 3,000




